A 294F ) i = X 15
I RKET 4 e F AR A AT ARG E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
W £ P DU —fti 2.6 5.1 —|  —|  —| -
LIS D Ktk 30 | 114 4.0 545 2. 26 2.2 — —
H| TR fr P M X —l 2. 88 6.3 |  —| —| —
SIS g L1$43E8ﬁ%28%2ﬁ - -
iy FE PR M X3 —# 3.8 6.8 —|  —|  —|  —
LR DR L1 4.9 6,90 3. 16 3.1 —| —
Z| MJesF FE% P XA —ft 2.8t 9.6f —|  —| - —
BRSO IR L1|# 4.8 17 3.86 3.8 —| —
F e = o F b —|WL 6. 180 8.4 — - — —
ERUADKE
1 EEHN 30 | 1.0 |EruMEEEES 7o 70 | —
2 LFEEIA o M L1fF 1UF 1480 7. 15E 7.1 — —
| KA 2 R L XI5 —%28F9J -1 - - -
ERLEASR D X L1 4.3fF 120 2.4 2.4 —| —
r=E =ty —¢4ﬂ¢90%24L24 - =
RAS = F i D —l 3. 08 5.8 —| - —| —
RFRRLIA D K ek 30 | L.1|4 5.6 8. 3% 3.2 3.2 — -
KFY = PR I —l 3.9 7.5 —| - - —
LRSI L1 6.2ff 7.8%0 3.9%6 3.9 —| —
K = PR Ik —l 3. T 7.4 | - = -
ERRLIA ORI 11| 5.5/ 8. 50 3.4 3.4 —| —
PN £ P L U —foti 3.4 7.5 —|  —|  —| -
EREEAA O KIS L1k 6.7 7860 3.7 3.7 —| —
KE F P K3 —t 2. el 5.0 | | | —
EERLA O KIS 30 | L1|P 3.9 8.3 2.9% 2.9 —| —
KA fi P b X3 —l 2.9 6.3 0 —| - - -
LR DRI L2$43E78%19M13 - -
B4l £ X A —%3@&5& -1 - - -




SEAR29F 4y i = X °H
A4 - e ARt ATET HARBE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B B RO K 30 | L1|F 4.3 128 Lepi1.e  —|  —
BER l=3jibeilEN —Ft 4. 5f 8.4 - —| - -
LRSS 30 | Li|P e 3 i 7 | —
Rl l=353F: i1 o2 ol 4.8 | | | —
ERRLIA O Kk 30 | LL1|H 4.2 8.4 4.8 4.8  — —
ny & H e 1 X3 —ht 2.80 9.7 | —| —| —
RELSO X L1$43E 1280 2.8t 2.8  —|  —
&R PR P L X3 —l 2. Tl 58 | —|  —|  —
LERUA ORI 1O 4.3 8.9l 4.360 4.3 —| —
EBHE = F Xtk oo Tl 5.8 | | | —
LRRLIA o Kk L1 4.9 7680 2. 400 2.4  — —
+taEH 5 A M IR —ft 2.9 4.8 - - - -
HEEIEANGYES 30 | LO|P 4.5 108 4.3 4.3 - —
AR T X Sl —l 4.0 6.7 0 —-| - - -
LRELLA DR S5 L1|% 4. F 8.0l 3.68 3.6 - -
=3 = F i i 2.8 6.6f —| - - —
RFRRLIA D K ek LO|d 5.1ff 6.9%0 2. 580 2.5  — -
NN i = PR I —l 4500 9.4 - - - -
LRCLASR D I
1 EER 30 | L1|f 8 1ff 21§ 2.3 2.3 — @ —
2 FECLISh o 30 | L1 7. f Mﬁ23ﬁ23 - -
G| £ P L U —fti 3. T 6.8 —|  —|  —| -
EREEAA O KIS L1 5.5 858 2.8% 28 —| —
A3k P P L X fgk —t 3.8 9.5 —  —| - —
EERLA O KIS 30 | L1|P 5 R 120 366 3.6 0 | —
RE=Z fi P b X3 —hl 3.9l 8.4 | | | -
EESAORIE 30 | L1|Pe.5F 15 9.5 05 | —
5 £ X A —J#t 2.9 -1 - - -

’ﬁS.l




A 294F ) i = X 3E
I RKET 4 e F AR A AT ARG E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
<| ZEF EFepS o K 30 | L1|% 3.6 5.3% 1.8 1.8 —|  —
J ®W P X3 —t o3 el 74—~ - —
LRSS L1 5.5 8.5t 3.2 3.9 —| —
Z| ATRE P ) b X S5 3T 7.4 | | | —
EEELS OO KR L.1|# 5.5/ 8. 5% 3.3 3.3 —| —
ey it FH 1L X3 —ht 2. 800 6.6 —| —| —| —
RS DK Lo|h 5.1 6.9t 2.7l 2.7 —| —
+A B2 P X S lenoe s 14 | | | —
RS DK
1 EER 30 | L[ 1B 220 4580 4.5 0 —| —
2 hEEA o i 30 | 1.O|H 8.6 1T 4.50f 4.5 @ — —
*E1TH Eoei 40 1.1 | EL¥EE b l:l:ﬁr Rt - -
AN=NIT 2 R L XI5 —Jiti 3. T@ 6.3 — - - -
ERLEASR D X L1 4.3fF 8. offl 2.1 2.1 —|  —
i = P —Mel 4908 100 —  —|  —| —
ERELIS O P L1 7.1 12 5.506 5.5 —| —
| ¥4 P b X —t 2. 4 7.9 - - - -
LRREADRIR LU 4.3 1o 278 2.7 —|  —
B i P —t 2. 4l 7.9 —| - - -
LRCLASR D XI5 L1 43 1 2. 76 2.7 — -
HiE Pt FH 1L X3 — 4. ol 8.4 - - - -
EFELS O IR 30 | L1|F 4 j: 1500 4.0 4.0 —| —
"R 2 FH i X3 —t 4267 - - - -
LA ORISR Lo 4.5 770 3. 1% 3.1  —| —
= H =353 p:iN —t 8. epi 100 | —|  —|  —
ERELA o K IE
1 FEHATHRLUALCERE 1 7 9 5L |30 YO O 12 - 5 = = -~ N = - -
WT 1B A IR s 1 B o A 7o R
2 LELADEERL 30 1. 1 |} bb #EA B YR 2. 7HE 2. 7) - -




SEAR29F 4y i = X 1H
I RKET 4 e F AR A AT ARG E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
x| A 3 BRSO 30 | L1|f 19 8 2.7 2.7 —| —
[B5'a P X3 —t 4.1 6.7 - - | -
LRSS L1 4. 8 Off 4.08 4.0 —| —
FRE P P i X S5 A T B I I
ERRLIA O Kk L1 49 7600 2.6%6 2.6  — —
RCZER it FH 1L X3 —hl 2. 90 4.8 | —| —| —
RS DK 30 | LO|P 4.5/ 9. Lt 428 4.9 —| —
THA P 1 X I e 12 | | | -
RS DK
1 EER 30 | Lo|F 1 24 - - | -
2 hEEA o i 30 | 1|4 10T 18 4. 15k 4.1 — —
TAS 5 A M IR — 4.0 6.7 — - — —
HEEIEANGYES L1 41 7.7 3.6% 3.5 —| —
T =i Y Hb X —ffd 2. Sl 6. 6 - - - -
LRELLA DR S5 L1|% 5. 1F 6.9 2.58 2.5 - -
I KE 72 F [t —fol 2.7t 4.8 -  —-| - -
RFRRLIA D K ek 30 | L1|H 3.9 9.5 2.4 2.4  — -
AR 2 P b PR —n 4. g6 6.1 —| - - —
LERES DX
1 EER 30 | 1O |EMCHEEILERD 4. 180 4.1 — —
2 FECLISh o 30 | LO|P 45 7.7 4408 44— —
AL £ P L U —foti 2.8 5.8 —|  —|  —| -
EREEAA O KIS Lo 4.3 8. oft 2.7 2.7 —| —
FEZ P P L X fgk —t 5.8l 8.0 —|  —| | —
RS X8 Lo 5.8 8.6 3.1 3.1 —| —
| A fi P b X3 —l 4.3 6.1 | —| - -
EESAORIE Lo 4.6 8 40 3.1 3.1 —| —
&l 3 2 F X - — — —

%4.9’%’@9.1 —




SEAR29F 4y i = X 5E
I RKET 4 e F AR A AT ARG E
% e = * ® = # ®
& B BRSO KR L1 7.0ff 100 3. 9% 3.9 —| —
R ) P PR A X S —o 3o 6.1 —|  —|  —| -
LRSS 30 | L1|P 5o 6500 2.9%0 2.9  —|  —
a3 l=353F: i1 —oe.gp 100 | —|  —|  —
EELLAS D KN 30 | L1 LU 145 4.0 4.0 0 — —
T & it FH 1L X3 —W 4480 10 — - — —
RS DK L1[p 7.1 (oph 3.5 3.5 —| —
=] PR P L X3 —l 2. 80 6.6 —|  —| —| —
LERUA ORI Lo 5.1k 6.9 2.560 2.5 —| —
2] e = F —fi 2.5 8.6 | | | —
ERLEAS D X I L1|# 5.0 108 2.7 2.7  —| —
=7 2 P b — 430 6.3 — - — —
HEEIEANGYES 30 | LO|P 5.0 8.3 3.2 3.9 —| —
ERE Y Hb X —ffd 2. gl 6. 3 - - - -
LRELLA DR S5 L1|% 4.3 8.5¢ 2.8 2.8 - -
P A = F i —ffd 4. 3 5.8 - - — —
RFRRLIA D K ek 30 | L.1|4 5.0 8 3% 3.2 3.2 — -
FETE = PR I —l 2. 860 6.5 —| —| —| —
LRSI L1 5. 1ff 6.9 2. 56 2.5 —| —
PR 2 P [ —h 2. Tl 5.8 - - - -
RSO RKIR LU 4.9 766 2308 2.3 —| —
PafEA £ P L U —foti 3.5 6.4 —|  —|  —| -
EREEAA O KIS L1 4.9% 8 4ft 2.3% 2.3 —| —
@ Ty Fot ) i (X 35 —l 4.0 6.3 | —| —| —
EEELMSN 0 I
1 EEinv 30 | L.O|EcvEE e pevE pevE - —
2 RSERW 30 | LoO|P 5ah L0 4 46E 4.1  —|  —
3 RECLISh oo HuE 30 | L1|P 44 7.7 426 4.9 —|  —




A 294F ) i = X 6
A4 - e ARt ATET HARBE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
7 T 2 FH X e —fid 4.0 7.7 — — — —
FERA O K 30 | L1 7o L0 2.5 2.5 —| —
V| AR fr P M X —l 4300 6.1 | —|  —| —
RIS K
1 EEinv Lok 8.7k 18 | | | -
2 LFELIA o i Lo 6.0 8 4 3.3%0 3.3 —| —
i FE% P XA —J#ti 2. Srﬁu 8¢ — - - -
BRSO IR L1|H 4.3 8.9% 3.86 3.8 —| —
ik i A KR i 428 6.7 | | | —
RSO KIS L1 4.6 8 Ot 4.4 4.4 —| —
Oy AN ) R —l 3. 4867 | —|  —|  —
ERLLAS O R L1|# 5.0 7000 2.9%0 2.9  — —
HHh o F 1 — 2.7l 5.0 | - | -
EFRRLIA D Kk 30 | L1 3.7 9.5 2,98 2.9  — -
FiE 7 F i [ —f 5.0t 7.8 -  —| - -
ERELAS D I
1 EERW 30 | L1k o o1 - - - —
2GS oM 30 | L[ 7.4k 1u0 2.6 2.6 0 —|  —
A i PR M X —foti 3. 500 6.8 —| - - —
FRPADKIR L1 4.9 108t 2.8% 228 —| —
B Pt FH 1L X3 — 4 61— - — -
NEEIIEINAIFS: L1 5.2 7.700 3.5 3.5 —| —
5 R 2 FH i X3 —t 4.7l 58— - - -
LA ORISR 30 | L1|P 5o 760 3260 3.9 —|  —
E Fe ) [ 3 —l 2.5 7.9 | —|  —|  —
BRI 0> KR L1|# 6.1 8. 50 2.7t 2.7 —| —
B/E =33 F: 1 ESE —t 2.5 9.7 —| —| —| —
FELS ORI 1.1 5 1f 11@ 3600 3.8 — —




SEAR29F 4y i = X 7H
A4 - e ARt ATET HARBE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B piitre £ P DU ot 2.8 6,60 —| —| - —
LIS D Ktk Lo 5 1 6,900 2.7k 2.7 — —
V| EJEESF it FE b X S —4.epio9.1 | | | —
EELIA 0 KR L1 71 10 3.8 3.8 —|  —
ANLH FE PR M X3 —# 6.4 100 | —|  —| —
EEUA ORI 30 | Lo|P 1 1EML 4260 4.2 | —
A FE% P XA —t 2.4t 9.7 | | - —
ERRLIA O Rk L1 5 1 110 3.6 3.6 — —
7 HE i F L (XA el 2.9 5.1 | | | —
RSO KIS 30 | LO[|H 4.0F 5 AT@ 2.0 2.2 —| —
=AA EEEy 30 1. 0 & L HEE e tl:i‘Er [Eefics - -
Mk, &=
1 R —#E 9. 480 10 - - - -
2 ERLEIA DR 30 | L1|F 1Of 17# 7.50d 7.5 0 — -
LRELLA D s
1 R —ti 6.5 8.4 —| - - -
2 FREUA ORI 30 | L1|P 7000 9580 3.3 3.3 —|  —
TKAR = PR I —l 2. 960 4.8 —| - - —
SEIICINDIFS 30 | L1 47 1080 4280 4.2 | —
=R 2 P [ —t 3. e 6.5 - —| - -
RSO RKIR LU 5o 7. 860 3. 908 3.9 —|  —
FA AL £ P L U —fti 2.8 9.1 —| —| - -
ERLEAA D X I L1|f 4.5 148 3.8% 3.8 — -
= Fot ) i (X 35 — 3. Tl 6.2 | | | —
EERLA O KIS L1[f 51 7.8 3.9% 3.9 —| —
o AT fi P b X3 —l 4.0t 7.8 | —| - -
ERLEAS DK
1 [EEE 30 | L1 8. gF 16’%@ 4,94 .9 —| —




SEAR29F 4y i = X 8
I RKET 4 e F AR A AT ARG E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
o RAT 2 kRS OHIK 30 | L1|d o5 yfr 12%E 4028 42— —
Bl B P X3 —#t 2. el 58— —| - —
LRSS DR LU 4.9 6500 2.680 2.5 —| —
Il FR FE L X 46l 100 | | - —
ERRLIA O Kk L1 7 0 1200 2.9%6 2.9 — —
(i P ot 39969 | | |  —
RS DK 30 | LLI|P 47fh Lot 4280 49—  —
HLi s PR P L X3 —l 3.6t 8.4 | —|  —| —
LERUA ORI 30 | L2 47F 15 2.7 2.7 —|  —
K| #ER R R X3 —t 6.4t 8.4 | —|  —|  —
R O K IE
1 EEHy 30 | L1 |MeeHEEERYE | | | —
2 LELU OISR 30 | L1|P 8.6 15 5.4 5.4 0 —|  —
I T X Sl —l 3.8 7.y | - - -
e NG 30 | L1|H 5.0 780 3.3 3.3  —| —
KM = F i D —fl 4. 7r@ 84 - - - -
RFRRLIA D K ek L1 6. 4b 120 4 1 4.1 - -
FHE = PR I —l 2.7 5.8 —| - - —
LRSI L1 4.9 6.5 2. 566 2.5 —| —
D\ hE 2 P [ —h 3. 463 - - - -
RS oD K Se
1 [EEHv Li|k 7.3 1 - - - -
2 _EELS o Mgk L1k 4.8 8 o 2.6 2.6 —| —
ol & F P K3 —t 2. gl 4.9 —  —| - —
RS X8 30 | L1|P 4.5 8.4 426 4.9 —| —




